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(I'd like to be a cat because it is cute ).
( What activities do they like )?
Now (I know why Japanese students are ) so quiet.
~ that ( communication is more important than exams ).

nervous, shy’g2&

I want to communicate with a lot of people in English. So, I must study English hard.

I have decided to go to Tokyo University. So, I must study English very hard. el

1 7 [ Are they difficult to play? / Is it difficult to play them? ]
+ [ What kind of games did you play? ]
» [ we can buy anything we want at shops. |
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They found them in South America.

Because they grew well even in their cold and rainy climate.

Yes, there are.

I have never thought about the history of potatoes.

I want to tell this story to my family.
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